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Requires power-reduction formula from trigonometry.
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The definite integral of a rate is the net change.

TeomaL CHANGE -

b
S‘l(-"(at) lJ):
a —

1w
S:.. ) LT _ oS é)c)]
2 b)dx = ( ;
QNI 6 —eos (o
> vw . oS [‘Lﬂ')"’ ( 5
20 o ’(_. V) =
o) =
]
\seeo\dw = ) : Sexé
] : ~&) L2
3 se (x) ;f 5'-\.(!)3 o "{js;(x) :_c a7 ¥
\S-GA \: Ceo ) € ssl) ¢ O -
T
"r Sl (- s
T o)y =S 5
- Ss.—\(t\ol)‘ +
[ v
-(r') - c,OS(T)

_ s ()= (- eos (o\\ 4+ DS G

= — N\ I - (=)=



240409-notes.notebook April 09, 2024



240409-notes.notebook April 09, 2024

S 4.5 - u-Substitution
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2

Evaluate / (x +6) \_.-"4 _ x2 dx by writing it as a sum of two integrals and interpreting one of those integrals in terms of an area.
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